Two standard normal functions according toGauf?
Density functionp(u)

Two standard normal functions according toGau
Density functionp(u)

sz W g cecu<e | owearzy e MV 4 (Cosy<s) 0
0,5¢ area normalized to 1 0, w 3]
2 1 0 1 2u=logL, 2 B o U1 2 u=logL,
Distribution functiong(u) Distribution functiong(u)
L -(2)t2 L -2)t?
ou)=(~zn e~ W2 gt -0 5¢(u) 2] ou)=(~zn e~ W2 tyt -0 5¢u) 12]
Y ~o0
777777777 10F - - ——————— I
| o),
018 18 = 180 1800 N 18 Y,=18 (90180 1800
0,01 3 10 100, 10 i 1 5 10 00, 10”
2 M 0 1 SulogL, 2 1 0 [ buslogL,
EES91-1A EE591-2A
Two standard normal functions according toGauf3 Two standard normal functions according toGaul3
Density functionp(u) Density functionp(u)
-(1/2)-u? _ ~(1/2)-u? 2
d(u=(22m) e o) (ce<u<c) [1 d(uy=(22m-e o) (Fe<u<w) [1]
1.4 area normalized t& l'ow .
2 1 0 1 2u=logL, 2 B o U1 »u=logL,
Distribution functiong(u) Distribution functiong(u)
f-(12)t2 L -2)t?
=2 e~ M2t -1 0g(u) 2] ou)=Azn e~ M2yt -1 0¢u) 2]
Y ~o0
777777777 20k - - - - - - — |
u
. | o),
018 18 Y18 180 1800 Y 018 18 Y,=18 (90180 1800
0,01 3 1 10 100 =10 0,01 i 1 5 10 00, 10”
-2 1 0 1 su=logL, -2 -1 o U 1 bu=logL,
EES591-3A EES591-4A

Two standard normal functions according toGauf
Density functionp(u) compare with CIE luminance contragfl

Two standard normal functions according toGauf?
Density functionp(u) compare with CIE luminance contrasfL

o=z - AN p)  (co<u<w) w iz e WA g (re<y<e) [
Oyg, area normalized to 1 0,5¢ ouy) = f ¢ u) du 3]
-2 Y 0 1 2u=logL, -2 B o U 1 2u=logL,
Distribution anctior‘p(u) corresponds to the CIE lightnds's Distribution anction(p(u) corresponds to the CIE lightndss
2 2
)=z e~ M2t -0 5¢(u) 2] o=z e~ 12t -0 5¢(u) 2]
Y o0
777777777 10F - ——————— - I
u
N = o),
018 18 Y18 180 1800 Y 018 18 Y,=18 (90180 1800
0,01 i 1 10 100 L,=10" 0,01 i 1 5 10 100, 10“
-2 1 0 1 2u=logl, -2 -1 o U 1 2u=logL,
EE591-5A EE591-6A

Two standard normal functions according toGauf?
Density functionp(u) compare with CIE luminance contrasf\L

Two standard normal functions according toGauf?
Density functionp(u) compare with CIE luminance contragf\l

Rz MDY g)  (ew<u<e w =Rz ¢ DV g (w< g
2 M 0 1 2u=logL, 2 1 0 U1 2u=logL,
Distribution anctior‘p(u) corresponds to the CIE lightndss Distribution anction(p(u) corresponds to the CIE lightndss
2 2
@uy=A2m e~ (12 tat -1 og(u) 2 u)=R2m [ e~ (2 Vgt -1,0¢(u) 2
Y o0
777777777 20 — — - - — oo 20 e e
u,
. = o),
0,18 18 Y,=18 180 1800 Y 0,18 18 Y,=18 90180 1800
001 i 1 10 190 L,=10" 0,01 i 1 5 10 100, 10“
-2 1 0 1 2u=logl, -2 -1 o U 1 bu=logL,
EE591-7A EE591-8A

EES591-7N




